
���������	
���

���	���
������������
������������������������ �  !"#$%�&'(%�)*+,-./0123456789:4;<=>=?>:;,@A4BCDEF<GHCBIEB4J=5<�2AKLM@�H=I�3<<5�NI<D�=I�=�GCOE?=B�F=G<;E=B�P4;�P=3;E?=GE56�FE?;4PBNEDE?�D<QE?<DN<�G4�I4F<�=DQ=5G=6<I%�E5?BNDE56�4OGE?=B�?B=;EGC%�=5D�6=I�O<;F<=3EBEGC>�R4S<Q<;%�AKLM�H=I;<IG;E?GE45I�IN?H�=I�IH4;GTG<;F�F4DEPE<D�IN;P=?<�?45DEGE45�=5D�D<P4;F=GE45�N5D<;�HE6H�O;<IIN;<>U;N?E=BBC%�AKLM�D<QE?<I�H=Q<�=�?;EGE?=B�;<IG;E?GE45�:54S5�=I�IS<BBE56�E5�4;6=5E?�I4BQ<5GI>�V44Q<;?4F<�GH<�BEFEG=GE45%�W4;B=5D�XOGE?=B�YDH<IEQ<�2WXY@�H=I�3<<5�E5G;4DN?<D�=I�=5�=BG<;5=GEQ<�P4;P=3;E?=GE56�FE?;4PBNEDE?�D<QE?<I%�<IO<?E=BBC�P4;�4;6=5E?�I4BQ<5GT3=I<D�4O<;=GE45>�R4S<Q<;%�DN<�G4�B4S4JC6<5�O<;F<=3EBEGC%�WXY�D<QE?<I�=;<�54G�=OOBE?=3B<�G4�=�FE?;4PBNEDE?�G<?H5EZN<�?=BB<D�=I�IG4O�PB4SBEGH46;=OHC�2M[\@>�]5�GH<�M[\�O;4?<II%�GH<�B4S�O<;F<=3EBEGC�G4�4JC6<5�B<=DI�G4�=5�=3I<5?<�4P4JC6<5�BN3;E?=GE45�B=C<;I�GH=G�=;<�;<ZNE;<D�G4�O;<Q<5G�O=;GE?B<�IGE?:E56�G4�WXY�D<QE?<I>�̂<�O;<I<5G�=F<GH4D�P4;�P=3;E?=GE56�WXY�D<QE?<I�SEGH�4JC6<5TO<;F<=3B<�AKLM�?4=GE56>�VH<�D<QE?<I�?=5�<JHE3EG4JC6<5�BN3;E?=GE45�B=C<;I�GH=G�?=5�3<�NI<D�P4;�4;6=5E?�I4BQ<5GT3=I<D�M[\�O;4?<II>�VH<�NI<�4P4;6=5E?�I4BQ<5G�F=C�<JO=5D�GH<�F=G<;E=B�I<B<?GE45�4P�GH<�M[\�O;4?<II�=5D�?45I<ZN<5GE=BBC�E5?;<=I<IGH<�?H<FE?=B�DEQ<;IEGC�4P�O=;GE?B<I>


